RAILWAY | SSC | STATE EXAMS

A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Comprehensive Questions Overview

Comprehensive Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam
is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Comprehensive Questions.

Comprehensive Questions

Directions: Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper sequence to form a
meaningful paragraph then answer the questions given below them. (A) The cow made a request to the tiger, “I have got a
calf at home and the calf is very hungry.” (B) The tiger was convinced with her plea and allowed her to return to the village.
(C) All the cows became scared and started running towards the village, but one cow was left behind. (D) The cow said to
the tiger, “I will come back after giving my milk to the calf. | promise.” (E) Some cows were grazing in a forest. A tiger
pounced upon them. (F) “It is impossible. Because if | leave you now, you will not come back” said the tiger.

Question

Which of the following will be the SIXTH (LAST) sentence after rearrangement?

Difficulty : Moderate Average Time: 66 Seconds

Options :
1. A

2. B
3.D
4. F

5 E

Solution

The correct answer is option 2 i.e. B

The proper sequence of sentences to form a meaningful paragraph will be ECAFDB.
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